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Note :This paper contains Seventy five (75) multiple-choice/assertion/reasoning/

matching questions. Each question carry TWO (2) marks. Attempt All

the questions.
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1. Which of the following is a tropical 1.

grassland ?
(IA) Llanos
(B) Pampas
(C) .Steppe

(D) Downs

2. A degrading lake ecosystem is often 2.

referred to as :
(A) Eutrophicatioﬁ
(B) Eluviatiqn
(C) Teuviation

(D) Chelation
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Which of the following is essential
before setting up of a major

industrial project ?

(A) EIA

(B) SIA

(C) Both (A) and (B)
(D) None of the above

({) A warm sea temperature of
>26°C.

(ii) High relative humidity of
atmosphere at a height of
>700 m.

(iii) Atmospheric instalility.

Study the above characteristics of
“Tropical Cyclone’ and state the

stage of its devélopment :

(A) Formation and initial
development

(B) Full maturity -

(C) Modification stage

(D) Decaying
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7.

Pattern of R_ural

(a)
(b)
()
(d)

Social integration, cultural diffusion
and spatial segregation are the
features of which of the following ?

(A) Industrialisation

(B) Migration

(C) Urbanisation

(D) Regional development
pH valﬁ;e is a measure of :
(A) Alkalinity |

(B) Acidity

(C) BOD

(D) COD

-Match the following :

Location
Settlement

Linear (1) Trijunction
Rectangular  (2) Plain area
Circular (3)
T-Shaped. (4)
Codes : |
@ B © @
@a @ & @ @
B 1 @ @ @
© 3 @ @ Q

D 4 & @ @

Along a road
Around Lakes
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10.

Polynesian group of .islands are 8.

located in which ocean ?
(A) Pacific

(B) Atlantic

(C) Indian

(D) Northern

Sex Ratio in India is worked out by 9.
using which of the following

formulas :

Male Population
Female Population

x 1000

Female Population
Male Population

1000

Female Population
Total Population

x 1000

Male Population
Total Population %

1000

The law of stream number confirms  10.

to the mathematical model of :
(A) Positive e#ponential function
(B) Negative eﬁponential function
(C) Positive arithmetic function

(D) Negative arithmetic function
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11. Who owns GLONASS ?

12.

13.

(A) United Nations

(B) US.S.R.

(C) United States of America
(D) European Union

What is the percentage of lateral

overlap in a pair of aerial

photographs ?
(A} 30

(B) 40

(C) 50

(D) 60

Remote sensing satellites are

mostly :

(A} Sun synchronous
(B) Geo-stationary
(C) Ground based

(D) All of the above
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14. Development of rail-roads, demand
for better quality refrigeration and
modern packaging plants help in the
development of which of the

following industries ?
(i) Meat

(if) Apparel

(iif) Diary products
(iv) Beverages

(A) (i) and (i)

(B) (i) and (i)

(C) (ii) and Gv)

(D) () and (v)

15. When the speed of satellite matches
with the orbital speed of the earth’s

rotation then it is known as :
(A) Geostationary

(B) Sunsynchronous

(C) Radar system

(D) Space shuttle
Geography-ITI
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16. The groundwater recharge rates

17.

18.

would be highest in which of the

fqllowing regions ?

(A) South-West Australia

(B) Great Lake regions of USA
(C) Scandinavian countries.

(D)_ Indo-gangetic plaing of Ilndia

As per the year 2016, Gujarat state

comprised of how many districts :

A 24

(B) 25
(C) 33
D 27

When did the state of Gujarat
came into existence as a separate

state ?

(A) 1st May, 1960
(B) 2nd May, 1960
(C) 1st May, 1961

(D) 2nd May, 1961

Geography-IIl
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19.

20.

Which one of the following
statements is not pertaining to 12th

Five Year Plan ?

(A) Average G.D.P. growth of 8

percent
(B) Agriculture growth of 4 percent

(C) Deduction of poverty rate by 5%
by 2007

(D) Eliminating gender and social

gap in education

The Backward Areas can be
identified on the basis of which of

the following parameters ?
(1) % of SC to total population.

{fi} % of working force engaged in

agriculture.

(iti) Ratio of urban to rural

population.
(A) (@) and (ii)
B) @) aﬁd (izi)
(C) (2) and (iiD)

(D) All three

Geography-III
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21.

22.

Which sensor data can be used to
map ground details when the sky

is overcast ?

(A) Visible sensors
(B) Infrared sensors
(C) Thermal sensors
(D) Microwave sensors

State which of the following related
to the conflict with Bangladesh over

the use of Ganga water are frue :

®

Demand for irrigation
(iiy Requirement of sufficient

water when the discharge is

substantially reduced

(iif) Maintain . the navigability of

Hooghly river
(A) Only @)
(B) (if) and (ii;i)
(C) All three

(D) None of the above

Geography-111
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- 23. Statement I :

The natural sequel of unchecked,
unplanned and haphazard growth
of urban areas is the growth and

spread of squatter settlements.
Statement II :

Slums tend to be isolated from
urban society.
{A) Both the.statements are true

and statement II is the correct

explanation to statement I

(B) Both the statements are true
but statement Il is not the
explanation to

correct

statement 1

(C) Statement I is true but

statement II is incorrect

(D) Statement 1 1s incorrect but

- statement II is true

Geography-IIT
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24. A functional region is delineated

25.

26.

on the basis of which of the

. following :

(A) Politico-administrative

‘boundaries
(B) Isolines
(C) Physical divisions
(D) Field of interaction

The two.principal wind erosion

processes are :

(A) Abrasion and Attrition

(B) Attrition and Deflation

(C) Deﬁation and Abrasion

(D) Deflation and Corrission

What does the South-West moensoon

in India represent :
(A) Equatorial Westerlies

(B) Mid latitude Westerlies

- {C) North-East Trades

(D) South-West Trades

Geography-1III
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27. In Government of India the nodal 279.

28.

Ministry for ‘Disaster Management’
is @

(A) Ministry of Agriculture

(B) Ministry of Environment

(C) Ministry of Earth Sciences

) Ministry of Home Affairs

The proportion of area of the surface
of the earth at various elevations
above or depth below a given

‘Datum’ is properly represented
by :

{A) Ffequency curve

(B) Lorenz curve

(C) Hypsometric curve

(D) S curve

Geogmphy—ﬂl'
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29, IWhat 1s the Photic Zone ?

30.

(A)

(B)

()

D)

The Coastal Zones of the oceans

where coral reefs are located

The layer of the ocean where

photosynthesis cannot occur

The surface layer of the ocean
where their is sufficient light

for photosynthesis

The layer of the ocean where

all biological life is located

The ‘Mohorovic Discontinuity’

separates :

- {A)

(B)

()

(D) Inner Solid Core and Outer

Core and Mantle

Upper Mantle and Lower Crust

Mantle and Esthenosphere

Liquid Core

Geography-1Il
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31.

32.

(D

(In
(1)

(IV)

The following statements are related
to ‘Hurricane’. State which of them
are true ?

(1) They develop over the ocean
between 8°-—15° N latitudes.

(#) They are almost absent in the
South Atlantic Ocean.

(i) They develop far to the equator.

(&) () and ()

(B) (i) and (zii)

(C) (@) and (D)

(D) All of the above
Match the following : |

Area Type of Industry
Ankleshwar (1} Power. Plant,
_and Vapi - Mining and

Aluminium Indu.

Vishakhapatnam (2)  Qil Refinery and

Steel Plant

3

Korba and _ Chemical
Singrauli
Dhanbad (4) Mining and Coke
Oven
Codes :
M ap Jn av
Aa O 8 @2 w
B @ @ @ O
© ® @ O
M @ @O @ @
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33. Statement I :

The salient aspects of urbanisation -

in India in recent decades are the
trend of concentration of urban
population in large cities and

agglomerations is getting 'si:ronger.
Statement II :

India has made significant strides
in economic growth, a large part of
it has been through the contribution

of urban areas.

(A) Both the statements are true
and statement I1 is the correct

explanation to statement I

(B) Both the statements are true
but statement II is not the
correct explanation to

statement I

(C) Statement I is true and

statement Il is false

(D) Statement I is false and

statement II is true

Geography-III
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34. Assertion (A) :

35.

Geography-11I

Trade liberalisat..ion allows goods
and services from everywhere to

compete with domestic products and

services. -

Reason (R) :

Globalisation adversely affects the

. economies of developing countries.

(A) Both (A) and (R) are true and

R) is an explanation to (A)

(R) is not an explanation to (A)

(C) (A) is true and (R) is false

(D) (A) is false and (R) is tru.e_'

The transverse displacement during

"~ an earthquake is the result of :

(A) L-waves
(B) P-waves
(C) S-waves

(D) L and S—_waves

34, [Qaid (A) :

(B) Both (A) and (R) are true but
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(C) S

(D) L daL S-siod



36. The changing age structure of g6 qadl-) ML Bl SEeiadt 124

increase in the number of people

65 arell 4y au-ll axdlg s a4l

above 65+ years and decline of

26 ® A 15 afell 3+l auell ciadly

population under age 15 is occurring

. . v ¥ S "
world wide. What would be the. _ L Elél- WO, uRad

impact of such a phenomenon ? Gu d-ll 2»u2 19?

@ There may not be enough () s W2 Yl wHRARL s

eople to fill jobs.
peop = Guesy 43l =l

(11} Increase the number of

Gi) ol dist »uqd
immigrants.

' | - i) 514 Al s difid W adl
(iii) The percentage of non-working (az) 3

individual will increase as gl S sURL disi-l dvay
compared with the working C 43l
individuals.

(A) () 29 i)
(A) (i) and (ii) |
. (B) () ¥\ (i)
(B) (i) and (iii)
»a Q}{"i “ e
(C) (i) and (iif) (C) (@ (tu).
(D) (i), (if) and (i) (I (i)’ (ii) Q,l.?[ (i) |



37.

38.

The direction of wind is determined

by which of the following factors ?

(A) Difference in Tempgrﬁture
(B) Differenc.:.e in Pressure

(C) -Inﬂuenge of Earth’s rotation
(D) Corollis force

Who has mentioned the following
process and mechanisms of

evolution as natural selection,

38.

adaptation and survival of fittest : .

(A) Adolf Easter
(B) Charles Darwin
(C) Alfred Russell Wallace

(D) Lamarck

Geography-III
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37.

Q2 oendel sal wRRowia »pall

Yod-fl Bl nsdl 4 ud 97
k'

(A) dluMldsl dslad

(B) sol@-l dslad

(€) yeell-l wReal 2642

D) siuu o

AAr WSl S8 Geuladl uian, gerdl
Wl 21 Aot ARl [Aeuan

2l gdl :

. (A) ASIEs AR

(B) U] a1+
(C) 2eds A4

D) arué



39. Assertion (A) :

40.

Fresh water resources are depleting

day by day.
Reason (R) :

The demand for fresh water has
increased with the rapid growth
of population, agriculture and

industry.

(A) Both (A) and (R) are true and

(R) is an explanation to (A)

(B) Both (A) and (R) are true and

(R) is not an explanation to (A)
(C) (A) is true and (R) if false
(D) (A) is false and (R) if true

What does a ‘%’ (star) symbol in a

weather map represents ?
(A) Drizzle

(B) Rain

(C) Showers

(D) Snow

Geography-1II
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39.

40.

[Qwt (A) :

gt well-l duln-t w2l Badq fad

Hadl AU 8.

51 (R)

lot wslldl Hisot ad © ¥4l
qac(l-tl Qati »sudl A & Wdl 214
Gelol u9L qf .

(A) (A& 2 51281 o WAL 9 M,
5130 A QA Wl il ©

(B) (Rl 2 5128 oln W B9 ¥4
(e 3 518 WA Aqoildd Al

(©) R A w2 & rud s13 i

-

3]

D) R Wg B 2wl s Wy
2

g sl suldd &’ (star AURD)

A Y g zafd &7

(A) B9l 4ULE

(B) 4R UL

(C) snai Bl

D) Ruax!

[P.T.0.]



41. What does probability sampling 41-

imply ?

(A) Stratified random sampling
(B) Systematic random sampling
(C) Simple random sampling

(D) All of the above

42. Statement I : 49,

Most steel plants are located in

Damodar Valley.
Statement II :

The raw material required for Iron
and Steel is available in the

neighbouring areas.

(A) Both statements I and I are

correct

(B) Statement I is correct but

statement II is incorrect

(C) Statement I is incorrect but

statement II is correct

(D) Both statements I and II are

incorrect

Geography-III 22

AGUAAL 3l A%A/nsUdl 2ualld
(Probability) 3-l Wieoll 2ed :
(A) Agd MBI vy waiedll

B) walau{l lAyfdd Ay-u
Yied(l

- (C) wel vAuBd e waedll

(D) GURAL 68 %

Qe 1:

izl Lol diviS—uidiedl i sHL

eldieR A€l vl MEaML 2uddL .
[Qae 11 :

AIVS—lAlE L GEIOL HIZHL Hls s
(5190 Hiet) usiall il w sl

Gudey 3.

(A) ol R I 2 1T vl 8

(B) Qs T wg o 2w I Run
w8

(©) Q- T wig & wul II R
Wy 6 |

(D) 6l I v II QA vzl 9



43. Some heat.is received by the 43 yulad uedl w8l aazei dedls

atmosphere even after sunset 'Olan d 2y @’%'i 30 B :

from : -
' (A) g AR [k
(A) Invisible solar radiation : :

(B) 3 ALl
(B) Latent heat

4O
(C) Radioactive processes (©) Bratieell u[}q;

(D) Terrestrial radiation | D) vista [af3a

44. What economic measures mark a 44, s U5 A s 2y 2ulls

country’s stage of development ? . _ '
- Rsd wu Asst ay 97

(A) Gross National Income.and

percentage of labpur force in (A) $4 (Qll%t) R0E Aty 2 il

agriculture | | Hidagq-l esial
Infant Mortality rat | s -
(B) Lower Infant Mortality ra es. B) oua 4y £3 il 2 gedl
and high rates of natural

: : Al aaiiddl Gl &R
increase of populai_;lon

(C) Green Revolution _ (©) sRud] sila

(D) Higher female literacy rat;els D) wllein 612{1_[31[31 q 62 wed

and minimisation of gap ' o
- 2L dstad 2l wA YMi-u
between male and female

literacy. | - RACE

Geogxaiahyéﬂl | | 23 ~ [Pro)



45.

46.

The areas most prone to
earthquakes in India are the fold
mountain ranges of Himalayan

zone, the main reason for it is :

(A) Eustatic movement along the

‘Himalayas

(B) Excessive cooling and

consequent contraction of the

earth’s crust

(C) Himalayas' have not yet

attained isostatic equil'i'brium_

(D) Due to the metting of glaciers
the water reaches the interior
and it is convented into seam

and gases

When tints and colours are used to
portrary the spatial distribution
on maps, then the maps are known
as :

(A) Isochr‘onic

(B) I_sdi-ithmic

(C) Choroschematic

(D) Chorochromatic

Geography-III

45.

46.

Rwau RRuar s ydd-

PRz ey ieiRd #ol s

Yoy 8L 89

(A [Buiadar ueusi ad y2dls
AR

(B) At Riddd 54 vl
eysaad sdoudl isiun

(€) [Ryuau-t [Qdaiul epRigant-dl
UBuL yel 4 -l

(D) [8x+el Yladad s18 well
yeelli 2l Gl § @A A
AN 2 AYHL FUid Uy B

@Yl AsWHL Exfly Rdre sulaa

IS O A TOL Qi vl giy

Al d- 58 8
(A) ulﬁa{mm ygla

(B) SARAGIE wgla

(©) slABARSs ygl

(D) siASARs ugly



47. Which of the following agricultural

48.

49.

Geography-1I1

system is described as “Child of

Industrial Revolution” ?

(A) Intensive subsistence tillage
(B) Livestock Ranching

(C) Subsistence tillage

(.D) Collective farming

Sedimentary rocks are formed
when sediment becomes compressed
and cemented together in a process

known as :

(A) lithiﬁcation

| (B) crystallisation

(C) solidification
(D) solifluction

The challenge of development in the

broad sense is to :

(A) improve the quality of life
(B) greafer individual freedom
(C) richer _cultufal life

(D) less poverty

25

47.

48.

49.

Al U5 55 vdlsly wely
“uilenlhs siladl elums’’ d
Oy 97

@) wart Faleas] Bid
(B) uguland gl

© Ralsarl adl

D) wyles vidl

[MAugd mssl Al o & & oud
[Méu GuR g6zl 309 @ 2R d Hald
orialedl UEUL Ald D, L uBUL s0

AN sy 97
(A) sl ubza

(B) uSeidail ulzat

(O desaldl ulFul

D) Adlsasu uEu

Y

s wdHi @5l 8d O ¢

(A) ®an dRadidl YaLl

(B) ulkdod @ldrudi 4l
(C) wye AR4RSs war
@) el Alell

[P.T.0.]



50.

51.

The points on the surface of the
earth used as stations for
triangulation survey are called

as :

(A) Benchmarks

(B) Trigonometrical stations
(C) Contours

(D) None of the above

The current research in the field of
agriculture is being oriented more

towards :

(A) The development of new

fertilizers and pesticides

(B) Development of varieties of

‘seeds suitable for local areas
(C) Development of areas of oxisols

(D) Developnient of new machines

Geography-1II
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Busin{ly udaxi, yedl qwél Guani
% 2eot-l [Blg A% Guaiol suMl 219

& d sul <d v 87
(A) Sl=qHLS

(B) Bisiafala 2aal

Q) WMRAALMIA 3vil

M) GuaAl U4l 3is uw Al

adHir AHurt Al 2nan2d Aaiadsi
A1 VL s [@va U Ay e

$dld 2y €37

(A) ldl vid A Fgelas sl

olldql

(B) s ar3lRad 2ualld Banie

elaql
(C) 2l [Qdirl (s

D) «al 4l slaa



52.

83.

54.

When the sun and moon are on one 52.

side of the Earth is called :
(A) SYZYGY

(B)- Conjuction

(C) .Quadrature

(D) Opposition

Who propounded the Dynamic 83.

Equilib.rium theory ?
(A) R.C. Felmal

(B) GK. Gilbert
(C) Hack and Chorley

D) S.4J udon

Centrality of a place defined in g4

terms of K = 7 is determined on the

basis of its :

(A) Transport modes

(B) Administrative status
(C) Functional strength

(D) Number of Educationa_l

Institutes

Geography-II1 - 27

¥ Rafdul qd 2wt g, yedl-l 215

ds 2uddi ¢y dd g sdawr?
(A) SYZYGY

(B) Conjuction

(C) Quadrature

(D) Opposition

“srunls Sselldlsllun’’/ aldlla
augar’ -l Qouadr syl daulas
wdl wdl?

'(A) LA, Senw

(B) %.%. Sleo
(C) &5 2 ud

D) Ad. %S
ol 30gudl K =7, 58 Yelia

2 sdl 4d us 87
(A) ulRdgn-dl udasdl
(B) adladl @un

(€) sdstRal uldd

D) A&Rs Al Ava

[P.T.O.]



55.

56.

Arrange the following particulate
air pollutants in descending order

on the basis of particle size :
(1) Aerosol

(2) Dust

(3) Smoke

@) @), @), @)

®) 3), @), (D

© (M), @), 3

D) (2), (1), 3)

The scale which enables to estimates
with greater accuracy the fraction
of a division in both linear and

angular measurements is known

- as:

(A) Linear scale
(B) Diagonal scale
(C) Comparative scale

(D) Vernier scale

Geography-1I1
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55.

56.

AlHd: 19 ealde ¥ w50 wdl-t
ULMRL M2 ALl © dd Gddl

sHUl olsal
(1) AR
(2) YA

(3) 43Sl

@A) (L, 3), 2

(B) 3), @), ()

(C) (), 2), 3)
D) @, (1), (3)

P UMD HIY g1l s i sielly
(ool gl el seal
Aisuldyds 530 asy Al

.........

53 .

A /5wy

B) [asel wnemy
(C) dd-llcds NHIRLMLY

O alHy: wugy



57. State which of the following

58.

statements are true ?
(i) Quinary activities are referred

as white collared professionals.

(i) Quinary activities focus on
creation, rearrangement and

‘interpretation of existing ideas.

(izz) Highest level of decision
" makers or policy makers

perform quinary activities,

(A) (1) and (&)

(B) (i) and (iii)
(C) (i) and (i)
(D) (i), (i) and (i)

What is the importance of the

correlation coefficient ?

(A) There is a linear relation

between correlated variables

(B) It is one of the most valid

measure of statistics

(©)

Determines the degree of
association between two

variables

(D) It is a non-parametric method

of statistical analysis

Geography-1II
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57. 1A avudal sd Qe il 97?

58.

@ das usi-l 2uls nqlx, White
collared Al d3 vy

-

£9

G das wsiedl wls uqla
UFAHSAL, Yrt:oqeRel i Adlny
[QainL te A Asodd &

(i) GRAdH saurL [Figlul 4 -l
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(A) @) wA (@)

(B) () A (i)

(C) (@) 1 (i)
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Aoy JLlisd s g 87
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(B) isstslu wlddl w2 »u s

WMRd Y 8

(C) & AL gL dolag we
155l 53 &

(D) isSifly Rsane el 21 As

uAls wgla &
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59. -Choose the correct choice :

Greenhouse

(1)

(2)

(3)

(4)

Gas

CO,

CH,

CFCs

N,O

Codes :

(1)

A @

B) @

(C) (a)

(D) (@)

Geography-II

(@)

(®)

(¢}

(@)

(2)

(c)

(b)

(b)

(c)

Fertilizer use

Sources

Aerosols

Swamps and

Tundra

Fossil Fuel

Combustion

(3)

(b}

(0)

(d)

&)

(4}

(@)

(a)

{c)

(d)
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59. °MSsi AS| :

A1816U A1y

(1) CO,

@ CH,

(3) CFCs

4 N,0

%S ¢

(A)

(B)

()

(8)

1)

(d)

(d)

{a)

(@)

(a)

(b}

(©

(d)

(2)

{c)

(b)

(&)

(c)

GeMa AU
Widdl Guuta
SRR ]
oogael Wil

o leiril {ARALL 2

28 Neu

Aoyt Sawi-l

auludl
3 @
b) (a)
) (a)
@ (o

® @



60. The percentage of radiation from

the earth surface is the highest from

vv;hich of the following ?
(A) Wet ground

(B) Thick clohd.

(C) Forest .

(D) Snow cover

61. Which of the following plains of the  61.

world has the largest aggradational

surface formed by glaciation ‘?
(A) Nile Plain

(B) The Great Plains of Indi-é
(C) Plain of Enuraine

(D) Hwang Ho Plain

Geography-II1
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yeol awdlel ag (asad wsu
DA U4 s uRai Al ag A

Wi, 97?
(A) %ol ML

(B) "zdlevil

{C) %l

M RyusiEd wsdl
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(©) Y-l Hedl s

(D) saidi-el -l Asidl Nz
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. 62,

63.

Which projection is used for
preparing the to.pographical maps

in India ?

(A) Bonne’s conical

(B) Polyconic
(C) Rectangular Polyconic
(D) International Projection

Which of the following Greek
geographers ‘ascertained the
length of equator with remarkable
precision and also developed

the systems of coordinates of the

world ?
(A} Homer
(B) Eratosthenes

(C) Alexander

- (D) Herataeus

Geography-II1
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GLR ML R 53 AR 54l HI2

suL MENHL Gudiol samd i 87
(A) ol si-llsa ol Usalsiz My
B) vidlsils

(C) Ise~oyadr Widlsi-ls

(D) mlannﬁlq_ué‘m

.liacﬂ Gu [ayaqu-l dous Aswd
yds MuAiz a2l Gur si-

1B Wlzeud 9 s+ Als

cpliaddl edl
(A) 8lMR

(B) A28
(C) Q&ssisz

(D) su2lA



64. Isochrones means :

65.

(A) Connect places which takes the
same amount of time to reach

from a given centre

~(B) Connect places of equal rainfall

“distribution

(C) Connect places of prevailing

similar area of temperature

(D) A line which shows equal wind

velocity

Which type of radiation is trapped
on the earth’s surface which is
responsible for the Greenhouse

effect ?7
(A) Terrestrial

(B) Eléctromagnetic

{C) Geothermal

(D) Atomic

- Geography-ITI
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64. WISASIY ved :

63.

(A) U0 3wl & AP UsiAA]

Vs WM HHY AL A @diq

Asdl vl

(B) 215 dMId dAutedl [AdQl

eaiq Bsdl Jul

(C) dis AMUi diumid ([Adgl

01 Al v

(D) Bls AMLL Ud-dl 991 8lcddl.

A otsdl v

yoofl qwdl Guz suL w12l RBREA

‘ol elBA 93527 W2 wAHslR 97

(A oA [@Qfsra

B) daszi—noAfs [Alken

(C) uil—ada [AfEe

D) Aeifs [@lzax
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66. Choose the correct order of
contaminants permissible level

for potable water :
Contaminant BIS Standard
(PPM)
(1) Chlorides. (a) 0.05
(2) Sulphate () 100
3) Calcium ) 1000
(4) Chromium (@) 600
Codes :
» @ @ @
@@ ® © «
B) © @ ®& @
(0). ® @ © @

| M @& @ G (@
- Geography-II

66.

ges

(1)
2)
(3

(4)

R Wiz AL gesld o33 HyR |

Yt "ssl 53 aA alsal -
ofl .2US. 2lA. WA
(PPM)

sdlASSU (@) 0.05

ek I(b) 100
3(—2[[% © .1000
sy (d) 600
sis

1 @ @ @
A @ b ©© @

B @ @ & W

O e @ o @

D @ ©© &



67. Statement 1 :

Indiais a rhultinational, multiethnic

and multireligious state.
Statement II :
Successive - Muslim invasions

followed by British advance in the

historic past led to the fusion.

(A) Both the statements are true
and statement II is the correct

explanation to statement I

(B) Both the statements are true
but statement II is not the
correct explanation

statement [

(©)

Statement I is true and

statement II is incorrect

D)

Statement 1 is incorrect and

statement II is true

Geogmphy—ﬂl

to

67.
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68.

69.

1)
@)
3)

(4)

Study of BOD and COD relates
to :

(A) Air Pollution
(B) Water Pollution
(C) Soil Pollution
(D) Land Pollution

Select the corréct density of

population against each country :

Countries  Density of

Population

(sq km)
Monaco (@) 403
Bangaladesh  (6) 7,751
Singapore - (¢) 1,062
Netherlands  (d) 36,356
Codes :

1 @ B3 @
A @ © ©® @
B @ @ @ ®
©® @ @ ©
D) @ ® © @

Geography-1I1
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69,

(1)

(3)
4)

of LSl A AL 8l Al Heun
Al Y4 -l Wl Asnda 8

(A) ddlt MEMBL

(B) wellfro ugMR
(C) Helq UgMQ
(D) ¥+l ueda

A2 ealde 20l -t wd ¥ Q padl
Al axdlalladidar >0l A ssl

olsal :
] adlaflacu
(sq km)
qi-ALSL (@) 403
CIECTER) ® 17,751
Alouuiz (© 1,062
YAy, (d) 36,356
1S
O @ 3 @
A d @©@ & (.
B © @ @
© 6 @ @ ©
M @ & () (d).



70. Correlation is a measure of :

(A) Central Tendency
(B) Dispersion
(C) Association

(D) None of the above

71. “Operation flood” in India deals

with the program of :

(A) Contrel of floods

(B) Supply of water to the rural

areas

(C) Dairy development

(D) Linking Ganga with Godavari

system

Geography-III
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w1 697
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72.

73.

What is the total literary rate of

India in 2011 census ?
(A) 44%
(B} 54%
(C) 64%
(D) 74%

The following statements are related
to ‘water harvesting’. State which of

them are true ?

®

It means capturing rain when

1t falls.

(tz) It is practised to meet the

increased demand for water.
(ti1) It is a source of irrigation.

(A) Only )

" (B) (i) and (i)

(C) (@) and Gi)

(D) All three

Geography-TIII
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2011 l axdloweid ¥l 2uaL? M d-l

56 AHMAL s O :
(A) 44%
(B) 54%
(C) 64%
D) 74%

‘opt AU’ (dizy e1dd0) wd
Asodal A Qe WS sui qRl

87

@Yl AIALE 2d R weld

AMag d

(@)
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74.

75.

(a)

Tsunami waves are same as
normal sea waves,
(b) Tsunami waves are different

from the normal sea waves.

(c)

Tsunami waves are same as

tidal waves.

(d)

Tsunami waves are same as

storm surges.

Answer which of the following 1s

correct :

(A} (@) is correct, (b), (c) and (d) are

wrong

(B) (a) and (b) are correct, (¢) and

(d) are wrong

(C)

() is correct, (a), (c) and (d} are

wrong

(D) (b) and (c) are correct, (a) and

(d) are wrong

Tropical cyclones in India are
classified by the IMD based on
one of the following criteria.
Identify it.

(A) Wind speed
(B) Magnitude of damage
(C) Cloud cover area

(D) Pressure fall

Geography-II
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(@) Yl o 2 AHIA AYs Hid
A5 AN B

(5 Yrivdl {2 AL A ML
ol wao 8

©) UMl Hiod A el Hiod s
A &

@) Yl Mol wA auisidL Hied
(storm surges) 5 AHIA 2

AL Ul syl wawr AL B

(A) (@) Ra 01 9 1A (3), () w1
(d) Wil ©

(B) (@) 7 (&) QA4 At 8 24 ()
i (@) [ wiel ¢

©) (b) Rt Wy B, (@), © 2
(@) [RalA wiel
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(B) sl distct
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